Definitions

Define the terms of the series as a(n)
n+1

71— (-1)"

a:=n—(-1)

Define the series s (n) as the sum of the terms

s = n— Za(i)

i=1

Define the Cesaro sums 6 () as the average of the s (7)s
n
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(Note the different variables for sum indexes to prevent evaluation problems later.)

List The Values

Use a seq to list several values of a(n), s(n), and 6 (n)
N:=15:
seq(a(nl),nl=1.N)
-1,0,1,0,-1,0,1,0,-1,0,1,0, -1,0, 1
seq(s(n2),n2=1.N)
-1,-1,0,0, -1, -1,0,0, -1, -1,0,0, -1, -1, 0

seq(o(n3),n3=1.N)
L, 2 1 3 2 4 1 5 3 6 1 7 4 8
(Note the different index variables to prevent evaluation problems.)

Or get fancy ...
interface (rtablesize = 20) :
evalf[4](<< (n) | <an> ‘ <Sn > | <Gn >> ; (Vector (N, i—i) | Vector (N, a) | Vector(N, s)

| Vector(N, o) >>>
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n Cln Sn Gn
1. -1. -1. -1
2. 0. -1 -1
3. 1. 0. -0.6667
4. 0. 0. -0.5000
5. -1. -1. -0.6000
6. 0. -1. -0.6667
7. 1. 0. -0.5714 2.4)
8 0. 0. -0.5000
9. -1. -1. -0.5556
10. 0. -1. -0.6000
11. 1. 0. -0.5455
12. 0. 0. -0.5000
13. -1. -1. -0.5385
14. 0. -1. -0.5714
15. 1. 0. -0.5333
V¥ Limits
nlgrlma(n)
—%—%I..%+%I 3.1
which means a range, therefore Does Not Exist
nlil)nws(n)
3
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The same as above
nli_I)nooG(n)
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Aha! Cesaro-convergence to - %



